
N = 349

349 circles in a 1x0.70000 rectangle

radius =   0.023621591172
ratio  =  29.633905476157

density  = 0.873968051772
contacts = 889

 E.SPECHT
14-AUG-2010

N = 350

350 circles in a 1x0.70000 rectangle

radius =   0.023470511530
ratio  =  29.824658875249

density  = 0.865296579488
contacts = 869

 E.SPECHT
13-AUG-2010

N = 351

351 circles in a 1x0.70000 rectangle

radius =   0.023436328094
ratio  =  29.868160114529

density  = 0.865242986354
contacts = 649

 E.SPECHT
13-AUG-2010

N = 352

352 circles in a 1x0.70000 rectangle

radius =   0.023420082203
ratio  =  29.888878866484

density  = 0.866505505280
contacts = 556
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N = 353

353 circles in a 1x0.70000 rectangle

radius =   0.023373728664
ratio  =  29.948152905224

density  = 0.865530815047
contacts = 789

 E.SPECHT
13-AUG-2010

N = 354

354 circles in a 1x0.70000 rectangle

radius =   0.023336629331
ratio  =  29.995762887675

density  = 0.865229565019
contacts = 802

 E.SPECHT
13-AUG-2010


